Addite
'-.k - Z\ 7 9\‘799 N ﬂ*% Metrology Made Simple

Additel 103 </ 1) — Z (additel 949, 959A, 960 K> FEE < FARTDAY 7 TR

ADT103-NPT (F&EHI A v 7 AXRT Z)

1/ANPT A ADSEEEELFHH A v /AT %2 (10EAY. T—AHE)

BRES nE RXEN

ADT100-NPTM4-NPTF8Q | 774 742, 1/4NPT F ZAH'5 1/8NPT * X 100 MPa
ADT100-NPTM4-NPTF4Q | 774 742, 1/4ANPT Z ZAH*5 1/4NPT * R 100 MPa
ADT100-NPTM4-NPTF2Q | 77472, 1/4NPT F ZAH'5 1/2NPT * R 100 MPa
ADT100-NPTM4-BSPF8Q | 774 74, 1/4NPT F ZAH'5 1/8BSP * R 100 MPa
ADT100-NPTM4-BSPF4Q | 7 572, 1/ANPT FAH5 1/4BSP * X 100 MPa
ADT100-NPTM4-BSPF3Q | 774 7%, 1/4NPT 7F RAh'5 3/8BSP * R 100 MPa
ADT100-NPTM4-BSPF2Q | 75 7%, 1/ANPT FRAH5 1/2BSP X X 100 MPa
Additel 103-NPT ADT100-NPTM4-M10FQ | 7% 7%, 1/ANPT ZZAH5 M10x1.0 # R 100 MPa
ADT100-NPTM4-M14FQ | 7H 72, 1/ANPT ZZAH5 M14x1.5 AR 100 MPa
ADT100-NPTM4-M20FQ | 74 742, 1/ANPT FRAH5 M 20x1.5 X R 100 MPa

—
=
>
=

=
=]
=3

L
=
(=)

=
<
<

=
©

(&b)
(5]
—
=]
7]
175]
<5
&

o

ADT103-BSP (FEHI A v/ ARIZ)

1/ABSP A AD'SEXEELFMDH I A v /AT 2 (10EAY. 7—RFE)

BRES nE RKEN =

ADT100-BSPM4-NPTF8Q | 7% 7%, 1/4BSP #ZXH5 1/8 NPT X X 100 MPa
ADT100-BSPM4-NPTF4Q | 74742, 1/4BSP ZAH5 1/ANPT * X 100 MPa
ADT100-BSPM4-NPTF2Q | 74 7%, 1/4BSP #ZXH*5 1/2NPT AR 100 MPa
ADT100-BSPM4-BSPF8Q | 774 74, 1/4BSP ZAh*5 1/8BSP %4 R 100 MPa
ADT100-BSPM4-BSPF4Q | 75742, 1/ABSP 7 AH*5 1/4BSP X X 100 MPa
ADT100-BSPM4-BSPF3Q | 774 7%, 1/4BSP 74 Zh'5 3/8BSP % 100 MPa
ADT100-BSPM4-BSPF2Q | 7% 7%, 1/4BSP F AH*5 1/2BSP X X 100 MPa
Additel 103-BSP ADT100-BSPM4-M10FQ | 7”& 7%, 1/4BSP ZZH5 M10x1.0 XX | 100 MPa
ADT100-BSPM4-M14FQ | 7# 7%, 1/4BSP # ZH5 M14x1.5 XX | 100 MPa
ADT100-BSPM4-M20FQ | 74 7%, 1/4BSP Z# ZH5 M20x1.5 #X | 100 MPa

ADT103-M20 (F#EHI A vV ARIR)

M20x1.5 F ZADSETXEEHF/HBI v 7202 (10BAY. T—ZARB)

BRES nE RKEAH

]

ADT100-M20M-NPTF8Q | 7 & 7%, M20x1.5 # ZAH'5 1/8NPT AR 100 MPa
ADT100-M20M-NPTF4Q | 774742, M20x1.5 F ZH5 1/ANPT XX 100 MPa
ADT100-M20M-NPTF2Q | 74 7%, M20x1.5 7 ZH5 1/2NPT XX 100 MPa
ADT100-M20M-BSPF8Q | 774742, M20x1.5 # ZH*5 1/8BSP X X 100 MPa
ADT100-M20M-BSPF4Q | 774742, M20x1.5 7 XH*5 1/4BSP X X 100 MPa

ADT100-M20M-BSPF3Q | 77474, M20x1.5  H*5 3/8BSP X X 100 MPa [ ]
ADT100-M20M-BSPF2Q | 7% 7%, M20x1.5 ZZXH'5 1/2BSP * R 100 MPa
Additel 103-M20 ADT100-M20M-M10FQ TETH M20x1.5 FZAH5 M10x1.0 XX | 100 MPa

ADT100-M20M-M14FQ TEATR, M20x1.5F ZAH5 M14x1.5 XX | 100 MPa
ADT100-M20M-M20FQ THETZ, M20x1.5 F ZH5 M20x1.5 XX | 100 MPa

CDF v FABD—EEHMEFNC L ELIZEIE. LA DEBRES T7 R T2ETHETFEL,

® ® Additel Catalog

Additel #FICDULTIE www.maximator.co.jp 774X, XIF 03-3562-7787 £ TTEIZTELY,



